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XY := augment(X,Y) XY := csort(XY,0) XY = submatrix(XY,match(250,XY<O>)0,rows(XY) -1,0, 1)
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find base(X,Y) :=

Xb « 0

Yb <« 0

tresh «— mean(Y)

for i€ 0..last(X)

if Yi < tresh

Xbrows(Xb) < Xi

Ybrows(Yb) < Yi

line(Xb, Yb)

-3.822x 10

0.28
coeff := find base(X,Y) = 4

baseline(x) := (1 x)-coeff

All point with Y-values greater than the arithmetic mean of all
Y-values wil be ignored when calculating the best lienar fit.

You may try to use "median” instead of "mean" - that way
ignoring exactly half of the data.

baseline(x) —> —3.82228 x 10~ “-x + 0.2798
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J (fit(x) — baseline(x)) dx = 79.388
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The same with an exponential fit

find base(X,Y):= [ Xb <« 0

Yb <« 0

tresh <— mean(Y)

for i€ 0..last(X)

if Yi < tresh

Xbrows(Xb) < Xi

Ybrows(Yb) < Yi

expfit(Xb, Yb)

All point with Y-values greater than the arithmetic mean of all

Y-values wil be ignored when calculating the best lienar fit.

You may try to use "median” instead of "mean" - that way
ignoring exactly half of the data.
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Just for demonstration

(Xb Yb):= |Xb<« 0

Yb « 0

tresh «— mean(Y)

for ie 0..last(X)
if Yi < tresh

Xbrows(Xb) < Xi
Ybrows(Yb) < Yi
(Xb Yb)
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